® a®

a
® da*(a-4)

@«

a*(a-4)

a® — 4a?




S F 64a% - 16a + 1 9] 2142l ALY

D 4a-1 @ 8-a ® 1-8a

®)8a—1 ® 4a+1

64a? — 16a+1 = (8a—1)2




o|2HA] 4x? - 8x + a B YA FA]
et ol W, a+b+c %l—?LO

b (x +¢)® = bx® + 2bcx + be?
=4x*-8x+a

b=4,c=-1,a=4

La+b+c=44+4+(-1)=7




4. @ —ap? & ASESoHA?

@ (a-2b)* @(a+2b) (a —2b)
® (a+b)(a-4b) @ (a+2)(h-2)
® (a+2b)?

a? - 4b® = a? - (2b)?
= (a+ 2b) (a - 2b)




The Al 2 4 x- 20 & QA4RefehH?

D (x+5)(x+4) @) (x+5)(x-1)
® (x+4)(x-5) @ (x-2)(x+10)
® (x+2)(x-10)

B

2+ x-20=(x+5)(x-4)




6. (at3b)(2a—1)< AANFE 1, ab o] A%2 Fotolat,

> E.

> He: 6

(_(?,_i/i]) =2a° —a+ 6ab - 3b
et A ab O] Al 6 0]t




= % 8x%y —4xy & QIp7} ofd Z20

@ xy(2x-1) @ 4x ® 4y
@ x(2x-1) (@)y(2x +1)

8x%y — 4xy = 4xy(2x — 1)




39

-

ul

(20 4 19)(20 — 19)
39%1 =39

‘ 202 — 192




oS WA U, 2 -y 4 3(x +1) O A T

x+y= V3, x-y=15

@ V5+ V3 @ 5+ V10 ® Vi0+ V3
@VE+3v3  ® VI5+443

~&B

2=y +3(x+y) = (x+y)(x-y) +3(x+)
=(@x+y)(x-y+3)
= V3(V5+3)
= V15+33




10.

o5 S ezt vk | A2

@ 4a? - 2ab = 2a(a - b)

@ x? 4 20x—100 = (x + 10)?
@ —x2+1=(x+1)(-x-1)

@ x2-Tx+12= (x-2)(x—6)

@10x2 +23x—21 = (x+3)(10x-17)

B

@ 4a? - 2ab = 2a(2a - b)

@ x? 4+ 20x - 100 = (x — 10)2
@-x+1=-(x+1)(x-1)
@ x?-Tx+12=(x-3)(x—4)




11, chg Al AolA x o et A2 B A5 7H o, k o
Fatelet.

6x2+x—1,9x2-1,3x> +kx—2

C} "
| — ]

>
> Het: k=5

B

6x>+x-1=(2x+1)(3x-1)

9% —1=3x+1)(3x-1)

FE QA4 3x-1 o[k,
3x2+kx—2=(3x-1)(x+2) = 3x% + 5x - 2
k=5




12. 3x%+ (3a+16)x— 6= ALE3] 5FH (x +b)(3x—2) 7} Hr}. o] uf,
A a+b 9 F2?

@ -3 @ -1 @0 @ 2 ® 3

S5 ~
(x+b)(3x—2) =3x* + (-2 + 3b)x — 2b O] B2

3x2 + (=2 +3b)x — 2b = 3x* + (3a + 16)x - 6

—2b=-6, .b=3

-2+3b=3a+16, .a=-3

La+b=0




13. x—-47F 5 o34 2% +ax 440, 3x* = 10x + b o] 520 5L o,
a-b 9| & Fohd?

® 3 @ 6 ® 0 @-3 @)-6

B ‘

x* +ax+40 = (x - 4)(x - 10)

La=-14
3x2—10x+b = (x—4)(3x+ 2)
S.b=-8

...a_b:_14—(—8):—6




14. ©Fe I3 o] @ wle] go

AN

r
Ml

9l AAZE @ Al
ol 217} x, 191 A2 5

’ - \ 1 1
7N, @ we] Zolz} 19l AAFAE oo o]

R
1o,
- -8
K
3
-8
)
)

3|

[¢]
6 71E Al d st 1‘*}74% ks 4 I A I 1o 1
e wrEed ol Aage AN [N A
7t2 o] dolE g, M=o] AolE bt & W, (a+b)? 9 T2 Antrt
=71
® x*+5x+6 @ (2a+ b)?
@4x2+20x+25 @ (4a+b)?
® 25

S5 ~
g ol xQ1 ALY & A9 W] &
A&, 7t27F 22t x, 191 AAS 5719 ‘51011 5x
gt ¥ 9] Zol7} 19 AAAR 6719 Hol:
weba] ZJAZEE 9 wol=
X2 +5x+6 = (x+2)(x+3)°lct.
712 4ol x+3=a, AIE ZolE x+2=>bz 5IH
(a+b)? = (x+ 3+ x+2)2
= (2x +5)2
= 4x2 + 20x + 25




15. oh& =39 AR F70] WolE ved Zlo] ofd A-2?
-Qa- -
// ~ 27
,I
b
\
\
\\ 1
@ (@a-2)(b-1) @ ab-1)-2(b-1)
@)ab +2 @ bla-2)-(a-2)
® ab-2b—-a+2
ALt B50] Yol=
@ (a-2)(b-1)
@abh-1)-2(b-1)=(a-2)(b-1)
®ab+2
@b(a-2)-(a-2)=(a-2)(b-1)

®ab-2b—a+2=a(b-

D=2(b-1)=(a=-2)(b-1)




16. (2x-1)" - (x+2)*& AFEH5H (3x + a) (x + b) 7} BTFAL G},
ol Wl, a — b9 Fh= F5HA?

® -1 @ 3 ® 0 @ 2 ®)4

B

2x—1=A, x+2=BZ *35}1H
(2x-1)% - (x+2)?
=A%2-B?>=(A+B)(A-B)
=(2x-14+x+2)(2x-1-x-2)
=Bx+1)(x-3)

La=1,b=-3
La-b=14+3=4




17. x=-1+ V2 Ao, 2420+ 19 @< Fopodal,

> E.

> ®e: 2




-1+ V3




19.

l}%ﬂr Zol g7 3?93;}. A W A& °ﬂ 1401 Al oAk &

O x+1)(x+2) @ (+29(x+3) @u+2)(x+9)
@ (x+3)(x+5) @ (x+2)(x+6)

K —8x+6—>x2+8x+6—>x%+6x+8—> (x+2)(x+4)




(x=2a)(x +a)
=(a+b-2a)(a+b+a)
(b—a)(2a+b)




21.

({F_/‘q) ZX(l—yz)_y(l_yz)
=(x-y) (1-)?)
=(x-y)(1+y) (1-y)

@y-1=-(1-y)




22. oA (2% - 3x + 2)(x? + 5x + 6) — 60 & Q5El5tH?

O (x+4)(x=3)(x*+x+5) @ (x-4)(x+3)(x*-x+4)
® (x+6)(x—2)(x2+x+5) @(x+4)(x—3)(x2+x+4)

® (x—4)(x+3)(x* +x+4)

~&B

(x? = 3x + 2)(x® + 5x + 6) — 60
=x-1)(x-2)(x+2)(x+3)-60
=(x-1)(x+2)x(x-2)(x+3)—60
= (x> +x-2)(x* +x-6) - 60

P +x=A2ZEF°oH
(A—6)(A—-2)—60=A2—8A —48
— (A-12)(A +4)
=(x®+x-12)(x%> + x+4)

= (x+4)(x=3)(x*> + x+4)




@0l Wol7t x? + 4x —y? — 4y ©]
o, o] HPAAF O] FolE

B, @] Pl x—y o
Foh?

@ x-2y+4 ® x+2y+2

® x+4y+2

X2 =y +4(x-y) =
= (x+y+4)(x-y)

(x+y)(x—y) +4(x-y)




24. 4x% - 24xy + 36y? - 16 = F I} o] Hog
A2}A o] 9F-& ~totof et

[> HEFD 4x-12y

(FA4]) =4(a2 —6xy+9y)—16
=4(x-3y)°>-16
= (2x—6y+4) (2x—6y—4)

(2x—6y+4)+ (2x—6y—4) = 4x— 12y




25. ¥ +2xy +y? - 5x -5y & AgEootH?

@ (x+y)(x+y-5) @ (x+y)(x+y-10)
® (x=y)(x+y-5) @ (x-y)(x-y-5)

® (x+y)(x—y+10)

‘ (x+y)?-5(x+y) = (x+y)(x+y-5)




